
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      
                                      

1849 - Fizeau designs an experiment to measure the speed of light
→ achieved a value just 5% away from the current accepted value!
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↳ no longer able to see any light pulses returning from mirror .

what is going on ?
Time for wheel to turn through a distance = width of a tooth is :

←
time for one complete revolution

t
2 N← number of teeth ! gaps .

since f- =

t=¥f✓ frequency of wheel rotation

since light will travel a distance of 2D in this time ( case of no visible pulses)

c-
distance to mirror

speed of ,
c = 21

light
- t

c = 4DNf


